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B PRK7THE4 A1 H ST ¥ fE 87. 49
A 4.95
L BBEA
=3 78,11 — | 4,246,760 | f 5 HY 66.4 | 38 4,048
F E W 5.4 9 642,177 | X %% HT 5.7 43 8, 417
% F W 67.0| 33 56,799 (/N BRI T 8.5 | 27 18, 578
o 76.0| 5 330,850 | thi FH HT 63.4| 65 7,597
A B 76.3| 2 411,263 | 8 #H HY 62.7| 67 3, 459
fg b TH 63.9| 62 34,491 | & & HY 63.5| 64 11,735
AERTT 72,0 21 90,347 |+ 8 My 81.6| 71 5,519
w R M 75.71 7 348,898 | B FE M 67.2| 31 12,162
¥ W ™ 73.01 17 86,694 (78 L HT 65.9| 42 7,373
= ] 66.1| 40 33,945 | ik [ MY 65.1| 51 7, 419
R W 70.3 | 25 65,193 | 5% T 64.3| 59 8,012
Bk H T 72.11 19 65,812 | B ¢ Hy 65.6 | 44 6, 756
N = i 73,71 15 120, 682 | AHHEIEHT 66.9| 34 28, 890
HE & M 67.2] 31 36, 694 | JLTHJLERT 5.1 51 13, 644
J\HTHEH 64.5| 57 21,571 | Bk 3 T 65.6 | 44 15, 581
2! i} 87.6| 30 271,006 | th E HT 65.4| 47 12, 419
BEHS 75.5| 8 114,312 | & 8 # 64.7| 55 3,111
i iz} 75.2| 10 239,646 | #3 B HT 6.7 35 7,834
B oW 65.1] 51 15,989 1 ¥ = WY 66.5| 387 10, 136
o T 72.8 | 18 203,359 1% 1L Hy 64.6| 56 5,670
wEo T 4.4 13 108,445y — & HT 5.2 | 50 7,636
NTFRTE 75.8| 6 117,959 | B R H] 65.1| 51 5,537
REBF o 4.9 12 93,4091 & &£ & 66.6 | 386 8,759
e oW 64.4| 58 20,7161 85 F Hr 85.4 | 47 8, 950
> S NS 76.21 3 75,911 { & 4 HY 64.1| 61 5,751
g & m 70.5 ] 24 66,516 | & © HI 61.8| 70 7,140
E OB’ W 67.71 28 37,865 1 K% E H] §1.2 15 7,859
W OE W M4 1 93,891 {3} PR AT 61.0| 76 5,117
Vg 7 & T 76.1] 4 60,349 | 0 78 HT 62.7| 67 5,284
My T 7.0 238 41,003V K B T 3.9 62 13,950
N H T 69.4| 26 45, 445 | I Hy 64.31 59 9, 607
BE 75 Hy 1.1 22 23,511 |5 /@ AT 63.4| 65 3,848
wo| 74.4( 13 33,383 | = i HT 59.51 79 3, 906
W & AT 75.0 11 15,206 | 8 7§ HT 61.6 | 71 7,061
E HE m 72.11 19 35,212 |= % M 59.71 78 2,787
H & & 66.21 39 6,465 | & & HT 61.4| T4 4,103
= =i 73.71 15 34,293 | F & W 61.5| 78 8,881
B v I 66.0 | 41 38,068 [ AL b HT 59.2| 80 3,628
NI ) 65.5] 46 2,994 | f0 M. HT 60.1| 17 3,758
* i 67.7( 28 17, 566 | K NgEHT 62.2] 69 5, 332
T # &y 65.31 49 5,416
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